


T *1
Q *1

R *1

Plistic feet *4

Bolt M6*55 16pcs

b

Washers 24pcs

c

Nut M6 12pcs

d

K

Allen Key M4 1pc Spanner 1pc
Bolt  2 pcs

e

S *1

2

4
3

S

R

1

e

e

T

Q

e

K

b

M

O

e

bc

c

d

bc

c

d

bc

c

d



H  *1 I *1

B *1

Plistic feet *4

Bolt M6*55 13pcs

b

Washers 18pcs

c

Nut M6 9pcs

d

K

Allen Key M4 1pc Spanner 1pc

1
2

4

3

Bolt  1 pc

e

H

I

e

e

B

K

b

M

O

P

bc

c

d

bc

c

d

bc

c

d



C  *1 F *1

A *1

Plistic feet *4

Bolt M6*55 13pcs

b

Washers 18pcs

c

Nut M6 9pcs

d

K

Allen Key M4 1pc Spanner 1pc

1

2

4
3

Bolt  1 pc

e

C

F

e

e

A

K

b

M

O

P

bc

c

d

bc

c

d

bc

c

d



D  *1 E *1

G *1

Plistic feet *4

Bolt M6*35 2pcs
Bolt M6*55 10pcs

a

b

Washers 14pcs

c

Nut M6 6pcs

d

K

Allen Key M4 1pc Spanner 1pc

D

E

a

c

G

M

O

1

2

4

3

K

b

K

b

bc

c

d

bc

c

d








	沙发8件套-1
	单人
	左转角
	右转角
	无扶手
	22
	11l
	沙发8件套-8

